


8. I J1-25x2 dx is equal to:
(a) %Jl—Zsz 2

(b) 32(-\1'1 —25x2% + % sin15x + C
(©) %\HS sy ® %sin'lsx e

e sin"15x+C
0

(d) 12‘-\1'25 _ x2 %sin"‘Sx +C

®:9.if |

———-_ 1+x+btantx+
x+2(x+1) alog |1+ x|+ n

%log |x + 2| + C, then:

-1 ) 1 £
St =—,b=—
(@) G =0 i Cra=s 5
= 2 2
as 302255 Dia5iTgel = 5

10. J.e”[m}dx is equal to:

X
ex
(a) log (e*logx) + C (b) s +C
(c) xlogx+¢e&*+C (d) e¥logx+C
2/3 dx
i1. s:
'[0 4+9x? PR v
T T
tad B) L
(a) 5 (b) 0
T n
il )=
(c) o (d) 7
12. The value of I is:
xlogx
2 3
(@) 1095 (b) 1095
(c) log 3 (d) log 2

13. f:ﬂ sin? x dx is equal to:

@ 3 OX
T T
(© ) (d) 3
m"2 4 + 3sinx A
14, j (m]dx equuls.
(@) 2 (b) %
(c) 0 (d) -2

15. _[:” J1 - sin2x dx equals:

@) 242
(c) 2 d) 2(v

16. Samrat, Kanchan and
playing a game with di

a particular digit. Samrat cat
idea of calculating the probabilitt
probability distribution function, wh
assumed to be e

(b) 2e + 2
(d) 2e-2

(a) 2e-3
(c) 2e-4

17. _[[e" log(sec x + tanx) + e* secx] dx equal to:

() e€logtanx + C
(b) e“logsecx+C
(c) elog (secx+tanx) +C
(d) € log (sexx-tan x) + C
In the question number 18 to 25, a statement

of Assertion (A) is followed by a statement of
Reason (R). Choose the correct option as:

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

() (A) is true but (R) is false.
(d) (A) is false but (R) is true.

18. Assertion (A): I x2dx = l‘i +C
3
Reason (R): J' ek o LigeanNa
19. Assertion (A): [ x<(1 + log x) dx = x+ C

Reason (R): g;(x") = x*(1 + logx)



20. Assertion (A): [e*[sinx + cosx]dx=eX

cos(x) +C

Reason (R):  [eX[f(x) + £'(x)] dx

=e*f(x)+C

n/2

21. Assertion (A): [ — 25X

e =
o Sinx + cosx

Reason (R): jf(x)dx - Tf(a - x)dx
Q 0

3
22, Assertion (A): I (3 + 5)dx =130
-3

Reason (R):  fix) =x° + 5 is an odd function.

_ s
'23. Assertion (A): it _|' dtagiis = 2x
B e X 0 t2 04| x4+ 4

dx
S _[ = lt{:ln*i[i) +C
+a

) dy. IFF(X)is an even function
* ie,f(-x) = f(x)

- iff(x) is an odd function
‘ﬁ.dge.zif(-_x.); ~f(x)

(g i TR |

): 111§!ulueof the integral
,; - nf4 S

8Ny Fiiag J' COGB,WQ[

5 + 2sin0 ] do
-n/4

5 - 2sinf

}

is zero

Reason (R): Tf(x}dx = 0, if fi- x) = - fx).

value of f{—;- - x]? Hence, evaluate

]2 sinx — cosXx
— ——dx
1 + sinxcosx
sinx
. dx .
sinx + cosXx

wf2
(C) Find the value of j‘ cos? xdx .
0

Very Short & Short Qs i - 3 marks

cosec?x

27. Find the integration of 5
sec” x

b
(B) Evaluate E"

2
28. Evaluate: | J—:z—;;‘dx
x® +

* 29. Evaluate: j' 33'3 33" 3% dy

2
30. Evaluate: _[ x2+3 dx
x“ -1
31. Find j“’z I COS XRRE )
0 1+sin’x

%32 Evaluate: I: X\ x + 6 dx

33. By using of properties of definite integrals,
evaluate: J':(z —x)™ x dx

34. Show that ["f(x) h(x) dx =3[ f(x)dx, if

f and h are defined as fix) = {a - x) and
h(x) + h(a-x)=6.

4 3 2
35. Evaluate: _[ 2X Bl XSG X dx

x2 + 2x

36. Evaluate: _ff” sin ! xdx

g 7 Vsl
% 37. Evaluate: L.m



|

38. Evaluate the integral:
P sin 6d0
0 (25 + cos 8) (26 + cos 0)
Show your steps.

*: 39, Evaluate: J’: log(1 + cos x) dx, When

nf2 $ LT
.[o logsinxdx = 5 log2

eO

dx

40. Evaluate: j
013e® + 12cosx

n/2 sinx + cosx

41. Evaluate: I ST
sin2x

Long Qs 4 &5 marks

42. Solve the following integrals.

@ '[ (x +3)* o

x+8

® 5

x+2
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?'* 48. If I e *|cos2x|dx —a(e 4+e

Objective Qs

1 mark

49. Integrate: z—xdx

(@)xlog2-log3+C

(b) {ZT +C

(d) none of these
3
500 x_ H
jx+ 1 dx is:

[DIKSHA]

2 3
(@ x+"7+"?-mg I1-x]+C
2 3 ;

X X
(b) X+ ae

2 3

X AEX
(c) x 7—?-log|1 +x]+C

log|]l-x]+C

3

X2
(d) x-?-l-?‘-log [1+x]+C

43. Evaluate the followi

(A) [ cos 2xcos 4x

44. Integrate the given f
steps. i

/4

-nf4

then find the value of a.

dx : P MORE
o -[sin(x—a)sin(x—b) s
OB
(a) sin (b - a) log % HConkt
(b) cosec (b - a) log %::; +C1
sin(x-b)| .
(c) cosec (b - a) log TS %) +C
ey sin(x —a)| :
(d) sin (b - a) log m +C
X H
2. | e &F
(a) log (—{i)ﬂ +C N .
x-2
2
(b) log 1= 2) +C
x-1
1
(c) log(x_z) +C

(@ log |(x- 1)(x-2)| + C



57. Evaluat

58. Evaluate:

59, Evaluate: I
X

60. Evaluate: [V5-2x+x>dx

: .6 6

sin® x +cos’ X
luate: |—— : dx

sin’ x cos” x

61. Eva

j' Siﬂ_ix
62. Evaluate: - X2 )3!2 dx

63. Evaluate: j'\/ 2ax - x* dx

X2

64. Evaluate: |—5 5 - dx
g ‘[x4—x2—12

nf4
'65. Evaluate: I log(sin x +cos x) dx
padn -nj4

(@) (Se)x
] log 5e ' 2
 (¢) e +C (d) (5¢)* log
-' [CBSE Practice Set-1

+C

7. For any integer n, the value of

T ec"’”‘ sin(2n+1) x dx is:
! (a) -1 (b) O

(d) 2 [CBSE SQP 2023] K |i+e [CBSE 2023

(c) 1



n/2
69. The value of | X> sinx dxis:
-nf2
T
(@) 0 ®) 5
2
) L
(©n (d) 2

[CBSE Practice Set-2 2023]
70. The value of J'tqnz[g] dois:
0

(u) R+\/§
© \E—n

(b) 3J3-x
@ n—v3

[CBSE 2024]

Very Short & Short Qs REFEEINES

71. Find: JI' 2X dx
(x?+1) (x*-4)

72. Evaluate: J'llog [2 x}dx.

[CBSE 2024]

2+x

[CBSE SQP 2023]
73. Solve the integral:

| = I 23" +5 dx
X“+4x+7
Show your work.
[CBSE Practice Set-1 2023]

74. Using the properties of definite integrals,
prove the following’

|5 h(sin x) dx=2 Ig h(sin x) dx, where h(smx)
is a function of sinx. State the property used.
[CBSE Practice Set-1 2023]

75. Find: fﬂdx; x#0. [CBSE SQP
x%(x2+9) :
o Is

76. Find: J'J dx xe(o

n
77. Evaluate: I(;i log(1 + tan x)dx.

[CBSE SQP 2023)
dx .
78. Evaluate i (e* +e ) (e* —e¥)
[CBSE zozalg
1
79. Evaluate [ |x*-x|dx. [CBSE 2023]
oy
1-sinx
80. Find [€* (1 _cosx]dx- [CBSE 2023 '
cos X
dx
81. Find I(l smx)(z P sinx)
[CBSE Practice Set-2 2023]
. sing db
[CBSE Practice Set-2 2023]
n  xtanx dic
83. Evaluate J, - tanx |

[CBSE Practice Set-2 2023]

84. Evaluate f l09(1+c¢sx)dx
[CBSE Practlce S.t-! 2023]

e i “Soirls 1

85‘- Firld fsec’&da > +3§'_;‘ v

[CBSE 2024]
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